Worked Examples
Value, Interest, and Mixture Problems — Problems Solved Using Systems of Equations

1. A 6000-seat theater has tickets for sale at $28 and $40. How many tickets should be
sold at each price for a sellout performance to generate a total revenue of $188,400?
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2. Ms. Jones invested $22,000 in two accounts, one yielding 8% interest and the other
yielding 11%. If she received a total of $2,120 in interest at the end of the year. How
much did she invest in each account?
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3. Mick Steiner, a nuclear physicist, needs 60 liters of a 70% acid solution. He currently
has a 50% solution and a 80% solution. How many liters of each does he need to make
the needed 70% acid solution? .
K= amonst (1) oF So9 5 slufvm T i€
7 thwkv\@ CL) 309“' Selsihon s

- 4o &— 0 o mixhves J

AC)
Sx+ .9y ‘(7(@ e et T
.Sxt .%;’ i 20 L of §oX gv,(wh\‘y\
Sy E oo o e Riwm
37-’-’ 1z

- Ao AW SWEV cheel

20(. 5-‘) + ‘-{0(7\) = L{’L

(Jw'i m O iS‘er\



